3.4 Proofs with Perpendicular Lines.notebook October 15, 2018

distance from a point to a line - the

length of the perpendicular segment from
the point to the line.

(the shortest distance from a point to a
line is the perpendicular segment)

Oct 17-8:30 AM

Find the distance from point A to BD .
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Monitoring Progress 1

A. Name the shortest segment from point A to BC.
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B. Write and solve an inequality for x.
A-§>12
Lx > zo]

Oct 12-3:22 PM
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Theorem 3.10 Linear Pair Perpendicular Theorem

If two lines intersect to form a linear pair of g
congruent angles, then the lines are perpendicular.
If £1= 22, theng L h. ) 142 h

Theorem 3.11 Perpendicular Transversal Theorem

In a plane, if a transversal is perpendicular to one AJ
of two parallel lines, then it is perpendicular to the
other line. + |
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Theorem 3.12 Lines Perpendicular to a Transversal Theorem

In a plane, if two lines are perpendicular to the m n
same line, then they are parallel to each other. 7 ]
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Theorems

Use the diagram to prove the Perpendicular Transversal Theorem.
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The photo shows the layout of a neighborhood. Determine which
lines, if any, must be parallel in the diagram. Explain your

reasoning.
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Example 3

Use the Iings marked in the photo.

3. Is b|la? Explain your reasoning.
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4. 1s b 1 ¢? Explain your reasoning.
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The perpendicular bisector of a
segment is a line perpendicular to a
segment at the segment’s midpoint.

Oct 17-8:37 AM

Homework:
pg. 152 #3,4, 11,12,16-23, 31

Oct 17-8:32 AM



